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Year 11 Extension I Mathematics
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Student Name: f' e _#  Class: ['

/ i T
Time Allowed: 75 minutes

Instructions

* Attempt ALL questions
Write using blue or black pen
Show all necessary working \
Marks may not be awarded for careless or badly arranged work
Calculators may be used
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DUESTION 1,

Simplify each of the following. *

@ 54 x &b | ': .
(o] 4y x 26y %35y

|
|
®

16p" x9g° % 2r*

20p° x3q* |
(d] ( g 56)4
G x @ HAE

(e] ’

(£) (144

MmE STon LY A class of Y students go to the zoo. One guarter
~of the class visit the@®eptile Hous®y while one
third of the class go to the Butterfly House.

(a)  Write an expression to represent the
number of students who went to the

Regtﬂe House.

Write an expression to represent the
number of students who went to the

Butterfly House.

(c) Write an expression to represent the
number of students who went to the
Reptile House and Butterfly House.

(®)

QUWESTiem 3 .

Simplify the fOHOWVi.I}g’. I

4

y.y
@ S5
12
) .2
6y 36yz!,-=

COYGESACINT 3 1 = ‘ v
If4 = Eh(a + b), find 4 when % = 20,

a=8and b =5.
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@QWESTion 5.
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Simplify the following.

X x,
a —_————
@ 2 3/
| |
RPN
_+___._
; ( 6m  Sm)|

-2—-

(g)u\f:S Tion T

Simplify the following expressmns by /
coﬂectmo like terms -

St

QuzsTiong
Simplify the following expressions by
collectmg like terms.

s ) - 4 =5 -(5)

QuESTionA .
Simplity the following.

() Tgxgx2p

(&) —Sabcx -chaxa.

R UESTION 16°
Expand and simplify the following expressions:

() S5(x+2)+3(x+6)=

GUESTION 67 o
M______,_,————-"""

Simplify the following.

871’2 IO\

a \
T

(b) =x—x—

(b) -3(2x+3y)=T(x )~

QWESTION 1t
The surface area (S) of a cylinder is given by
S =2mr(r+ h). Find S if  is the radius of the
cylindrical end and 7 is the height of the

cylinder when:
r=10,h=7

e




T QUESTIONIZ

Solve the foﬂowmc equatlons,
(a) Ww+152 =243

b 4y-57

bortmienips
Ny M‘""“«mﬁn.k.

RNEST (O =

Solve the following equations.
(a) 3p+25=37

(b) 1-6g=-17

st

Z’;&\

#
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Solve the equauon Sx-2=12x- 30

i'

Solve the foﬂowmo equations.
6(x +£2) = -8

~7(2x +5) =26

8C2p+1) =-2(7-3p)

5(29-4)-3+72-¢) =0
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GuES T (4 -
R e i

@Y?fhe linear inequality 7 — 5x < 1’7;

{ B Solve the inequality 2x -2 +3> 7.
yd

QuecsTioNn @

Expand the following exp;géioné and simplify
where possible.
(a) -2(4g-10)

/«‘

() p(6p+3)

ques Tiom ()
& Expand and sxmphty thefollowing expression
2x +3y) + 3(23;% 4y)

ASuesSTion i 7

cee or ;
txpand and simplify the expresszons

@ -30-5 _

(&) ta+38)4a-55)

}

] (Gd-6)3d+6)

Y (7-5p)°
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C&}ME‘SrTiQ NoOtE I’

Expand and stmplify the following expressions.
R ) e S

e — \

Factorise each of the foﬂowing.
(@ p*-1

Factorise (y +1

(&) ,Yi—txﬁ:.6)2.

B)

Facderise

i w

D, F /

— z P
A STio~ 2o
SO

/
|
i
.
Factorise each of the followiz;g./ f

x?—4x- o

4y? +16y +12.

g)ﬁz + 1252

QUE STors 27 o
Simplify the following expressions.
o) m+5S 2m-4
3 5
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Simplify the following expressions,

p 2x -1 y
@ 3y 8

1 2x -1

« 4 + 2
! (x+D(x-2) (x-2)(x+4)

z2+3z-4>< 18z 3z+12
22 43z z-4 6

@
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Quez STron gof

Identify the following equations as'linear,
quadratic or other.

(a) Sx+5x*=3 :

®) x-7x=87+3

(c) 2x+3=0

@ 8y"-3y+7=0

N)B
o

QUESTION 24!
T T
- Solve the follewing guadratic equations

(a) x=6)(x+2)=0

&) Y810

x2+3x—10=0
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QC‘Q";EST@{\);’.&‘ ’ ' i Sucation 26
(& ‘?ESolve the following by using the ‘complete the P e
~ i . . . \\_—‘ﬁ\ -
{ square’ method. Give an exact answer. Solve +he Laflowos "ﬁ ; ueldi _5‘{-5 <
> 6y -1=0 ard greph +he sclutiens an
rermi= | sepgrode number lines.

, =3
(a?___..->2

(L) 2Zx+| < 3 .

(b) Solve the followmg quadratic equations usin
g
the quadratic formula. Where necessary give
your answer correct to 2 decimal places.

x?-9x+14=0

END of PAPER




-
. ST awesTien 3 Y
, /
[uertion 1 / = Siraplify the fdllowiggl._//
Simplify each of the followin/g‘,/ y_y //’
T, I P M ® a4
T L @ sapxdbt /3,5
(JT (b] 487 x 2y x3x)) = 242 J
» - 160" x90" %2 | 24p°g" r* | —
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Assessment Task 1
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Student Name: / . & Class:
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Time Allowed: 75 minutes

Instructions
* Attempt ALL questions
*  Write using blue or black pen
¢ Show all necessary working
* Marks may not be awarded for careless or badly arranged work
* Calculators may be used
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FABSTIN LA elass ot y students g0 1o the 700. One guarter
of the class visit thef® eptile House¥while one

"third of the class go to the Butterfly House.
(a)-

Write an expression to represent the
number of students who went to the

Reptile House.

Write an expression to represent the

number of students who went to the
. Butterfly House. :

Write an expression to represent the
‘mumber of students who went to the

Reptile House and Butterfly House,

Bl

(@) RH =

o~

y
) BH = =

79
(<) RH+E8H = o3

-

Py
BWESTIONA ] .
e If4 = —;—h(a +b), find 4 when k=20,

a=8andb=35.

s /30
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@UWESTony 5§

Simplify the following,
x x/ - X
(a) 5 3 /_/ - -6-

i/ Py

; 4 3 19
©) antsn T,

n

QuwESs Tion T

Simplify the followmg expressions by /
(:ollectmfJ like terms. .
5

AuESTIONE
_ Simplify the following expressions by

collectmg like terms.
%@—W,@@ = 58" 3 -1-9«&
~4ap* -3

QUESTIONG™
Simplity the following.,. 2
s M4q9p

(@ Tgxgx2p: £
a 2
® -Sabcx-cbaxa. = 5435 <

A UESTION 1. ‘
Expand and simplify the following expressions:

@ SxF)+IGFO) = x +28

GuEsT oM 6"
Guee iow o

Simplify the following.
‘ 8m 10
@ g =

\

m 2x13.3
5 20 p

N~

b) 3+3)-Tx—) = —I3X ~2¢

w

3

T QUESTIONIL]

ot

QUESTION 1
The surface area (S) of a cylinder is given by
S=2mr(r + h). Find S'if r is the radius of the -
cylindrical end and / isthe height of the

cylinder when:
r=10,h=7

-

S =

i
!

106 8 -t4

Solve the following equationd/

(&) w+152=24 243 —

w= 9
® 4y-57
; —,
A 147

QUESTION 13!

Solve the foHowmg cquatlons
(@) 3p+2.5=37

- e
P

(b) 1-6g=-17

g °%

((‘/ Solve the equatlon Sx-2=12x%-30 /

e S

x.44

] / Solve the following equations,

6(x+2)_—8
"' x =-33
(& ~7(2x+5) =26 T
- 5 '
X -4
# 82p+1) = -2(7-3,)
) - 4
P25
|
i
|
(ﬂ) 32g-49-3+72-g)=0

i

j_,' g=3

1]
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TQUESTION {4 J,
T . -/
@ Solve the linear inequality 7 - 5x <17/

x >~2

2x -9
3

/L) Solve the -inéquality 3> 7. '—j"

(
x > =10z

&U\Es"rxol\) @

Expand the following exp;eSs/ions and simplify

here possible. g
() 2(ig-10 = ~8g +20
® pep+3 = épt3p

QuES Tiom 7»}

@9 Expand and simi:hi’y the'following expression.
2(x +3y) +3Q¥%~4y)

= 8"—"6‘y

M\\

BUESTIoM T’ ;
mmpli@ the e}qmressions...-"e
@ O-30-5 ——

-

- y-z__eyfls

(E) {a +3b)(4a - 5b) [

= 4ats 7ab-156"

] (3d - 6)(3d + 6)

= ga*-36

@) 7-spy? —

- 49 -70p +25p°

QuEST I N (B2

Expand ang SHIplify the
(5= - (v_3),

following €Xpressions.
i

~OXx *+34

Factorise each of the following.

@ -1 = (pr) (P -1)

() -
Factorise ( y+1)'/ ~(x+6)°.

(jél % 1+6) (yy-/ -x-€ )
= (;;"4\y+7)(~7'x-5)

&) s ]
Foclerise  y¥+ase
= (2g#5x) (49t - 02y 25X°)

———
QUE STiors o7

QUESTiomn 2o

Factorise each of
x~dxy -

/ ) e (x=5)(x+t1)

/
i

(b)

@)

P16y +12.

-

: /{olloyviz/lg‘/

—d

= 4 (y+l)(y+3)

Implify the following expressijon;.
(6] m+5 N 2m ~ 4

¥ S ————

3 5

T
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3x—2_4x+3

T

2 = =

27

S
x+D(x-2) (x=2)(x+4)

1"

\
AN

4(x+4)+5(x+1)
Cx+1)(x=-2)(x+4 )

Qx +~ 2
(xm)?"’z)("*;)

——— \ g
MuE S TN 27 ¢
o T T e
Sunphfy the following expressions.
) 2x ~ 1 a
13y 2x—1
f
e L
T
i
|
|
1
l,
, 2
z +3z—4>< 18z 37412
43z z-4 ¢
. g ’ 2
- (z 4)(2-:) Wz,

(z-4) /}/"’4)

Z(z+3)

36(z~t)
(ze3)(z-%)

L]

- aue STion) @
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Identify the following equations shnear
quadratic or other. .

@ Sv+sie3 © l;‘ﬂ .
®) x- Txl =843 awwenf/c

T 2x;r3=0 ‘,» /-//V"”‘

(d) 8y’ -3p+7=0

QUESTiom 24!
- Solve the fallowing quadratic equations

(&) G-6)x+2)=0

Xz 6 or ~2

®) “*¥*-81-0

wloe
(x+9)(x-9) =0

x = 9 or =9

g /
PN k
(C> éx‘-—-ix=0l\
Ix’-24x =9
- @JADRATIC x (7x ~24) =0
» o 24 3
R
/
(d) x +éx-10 0




i "8"_

QuEsSTion2S " — -
{ _.]':i Solve the following by using the ‘complete the QyEsTIon 26 -
5 \R\ L :
square’ method. Give an exact answer. Solve dhe -Qaﬂmwa:»?, i ne,a.,u @-“‘i“f e

v 2 6r 120 R ard .jmlﬂ"% +he goluhsrg an
L X ERETEEE - gtpémé’e ramber hees.

‘ &) >
X = 0.16 or -6-16 - —2

xir 6 =1
a

X+3 = *Yy70

‘
34 x €52

x =-3% Jio

k) 2+t <« 3 -

et ]
b) Solve the following quadratic equations using 2x+1 3 <o
the quadratic formula. Whete necessary give 1 ry B - s
your answer correct to 2 decimal places. ‘ x, )
x* -9x+14=0
|7 axrimimes
-2
< ©
Xt

Also when ~x-220 1 %t/ <o
When —~x-2<0 1 x+1 70 ° X <~

L x>=2 0 x>-8
- —— m—; =

-—

_z @ ot "“’2,’

END  of PAPER




